AZ2: Solving equations with more than one radical



Solve. Check your solution.

8) JTx+5=+11-3x

b) 3 %x—6 —2x+14 =0



Solve. Check your solution.

) 2Jx=+x+9

d) Yx-11=x/5+2x



Equations with rational exponents

a) Example with one solution

3x”* =81

b) Example with two solutions

4x7" = 64



C) lx

L | =

4/3 _ 125

3
x/4=9



e) (x-4)?+9=1

4/3

f) 1+(3x—7) =17



0 32
g) 2(536—4) =128

p (x=3)"+1=2



Review.: Simplify

a) {/256x9ylzz2

4

5) 234

o (2+3{‘/Z)2



Solve. Check for extraneous solutions.

d Jx+l=x-1



Sketch. State the domain and range.

e) y=x+3-1



